2pasa Klausur aus der Astrophysik
Aufpabe 1a | 1c | 1d | 1e 1 | 2a | 2b | Summe
- Funkte
Erreichbare BE 7 3 3 3 4 7 7 4 ¥
1|Anorym 4 | 0| 015 0 |258]25]|05 11 2
2|Anonym 1 1] 2 315 4 5 1 17,5 5
3|Anonym 7 3 2 3 4 4 7 3 33 13
4|Anarym B | 3| 0| 3| 2 |65|65]| 4 3 12
alAnarym 4 0| 0| 2| 2|08 3] 2 13,5 3
B Anarym 4 |3l o3| 47| 7|3 3 12
T|Anorm 4 | 3|05 3| 4|6 |[6B5]| 1 28 10
8lAnarm 4 [ 3|z 3| 23|73 7 10
8| Anarym 45 | 3 [ 3 | 3| 4 |55 7 |25] 335 13
10]Anarym Bl 3| o3| 38574 3 12
11 |Anarm Tl o 0 |25]25|148]358] 1 14 3
12|Anarym 1 25|08 2 (25 3| 6|1 19,5 6
13|Anarym Tl 3o |0 245|258 18 5
14 |Anarym 45 |28 2| 2 |25 58 | B |25 29 1
15| Anariym 05| 0o | o | oflo] 1|05 2 0
16 |Anarym o (05|08 2 10| 2|0 g 1
17 |Anorym 4 [ 3| 0| 2|25 3| 4]0 19,5 6
18|Anornym Blo | o | 3| 2| 7| 3|25 235 8
19]Anonym 1 3 o (1818|158 4 2 155 4
201Blurme 7 3 1] 3 2 4 3 3 25 9
21 |Kilian Urban 4 | 3| 0| 3 |25| 7 |55|25] 275 10
22IMargan Freeman 7 3 1 2 3 f Ba| 2 30,5 12
23|Schinken 4 [ 3| 0| 3| 0| 6|63 25 9
24|Schokolade 0| 3| 0|25 3|85 7|0 21 7
29| sexy hexy 59 7 3 1 3 4 7 7 4 6 14
26
7
2%
29
20
el
12
23
Durchschnitt 55% [71%] 21% | 88%| 56% | 59% | 74% [ 51%| 60% 7.88
hisBE | 75| 10 :125: 158 | 17 | 19 (205 225: 245 2652851 30 © 32 | 34 | 36 | 28
Punkte | 0 | 1 @ 2 @ 3 [ 45 : 6 [ 7: 8 :9]10 ;11213 14:15
Anzahl | 1 K 2122112310 42010
Note 6 5 4 3 2 1
Anzahl 1 4 5 4 8 3




